



CATALOGUE







TENDA LITHIUM BATTERY

Li-ion Traction batteries are designed to provide longer cycle life, reduced total cost of ownership, higher productivity and faster charging and are absolutely maintenance free.

BMS (Battery management system) allows you to monitor the healt and status of the battery at any time.



















PRODUCT TYPE



PRODUCT NAME	PRODUCT CODE	CAPACITY (Vah)	CHARCİNG CURRENT (Ah)	DISCHARGE CURRENT (A)	KASA TİPİ
12V 66Ah	LP-12/66	792	30	30	METAL
12V 100Ah	LP-12/100	1200	60	60	METAL
24V 20Ah	Lİ-24/20	480	10	10	ABS PLASTİK
24V 20Ah	LP-24/20	480	10	10	ABS PLASTİK
24V 40Ah	LP-24/40	840	20	20	METAL
24V 60Ah	LP-24/60	1440	30	30	METAL
24V 80Ah	LP-24/80	1920	40	40	METAL
24V 100Ah	LP-24/100	2400	60	60	METAL
24V 132Ah	LP-24/132	3168	60	60	METAL
24V 150Ah	LP-24/150	3600	60	60	METAL
24V 163Ah	LP-24/163	3912	60	60	METAL
24V 230Ah	LP-24/230	5520	100	100	METAL
24V 300Ah	LP-24/300	7200	150	150	METAL
48V 10Ah	Lİ-48/10	480	5	5	ABS PLASTİK
48V 12Ah	Lİ-48/12	576	5	5	ABS PLASTİK
48V 12Ah	LP-48/12	576	5	5	METAL
48V 18Ah	LP-48/18	864	10	10	METAL

PRODUCT TYPE



PRODUCT NAME	PRODUCT CODE	CAPACITY (Vah)	CHARCİNG CURRENT (Ah)	DISCHARGE CURRENT (A)	CASE TYPE
48V 24Ah	LP-48/24	1152	10	10	METAL
48V 30Ah	LP-48/30	1140	15	15	METAL
48V 40Ah	LP-48/40	1920	20	20	METAL
48V 100Ah	LP-48/100	4800	60	60	METAL
48V 150Ah	LP-48/150	7200	60	60	METAL
48V 300Ah	LP-48/300	14000	150	150	METAL
48V 500Ah	LP-48/500	24500	200	200	METAL
48V 600Ah	LP-48/600	28800	200	200	METAL
48V 700Ah	LP-48/700	33600	200	200	METAL
48V 800Ah	LP-48/800	38400	200	200	METAL
80V 100Ah	LP-80/100	8000	50	50	METAL
80V 200Ah	LP-80/200	16000	100	100	METAL
80V 300Ah	LP-80/300	24000	150	150	METAL
80V 400Ah	LP-80/400	32000	200	200	METAL
80V 500Ah	LP-80/500	40000	200	200	METAL
80V 750Ah	LP-80/750	60000	300	300	METAL
80V 1000Ah	LP-80/1000	80000	300	300	METAL

CHARGERS HIGH FREQUENCY (HF)













CONVENTIONAL CHARGERS







CHARGER PRODUCT TYPE



PRODUCT NAME	PRODUCT CODE	İNPUT (V)	OUTPUT (V)	CURRENT (A)	CASE TYPE		
24V 5A	CH-24/5	220	24	5	METAL		
24V 10A	CH-24/10	220	24	10	METAL		
24V 15A	CH-24/15	220	24	15	METAL		
24V 20A	CH-24/20	220	24	20	METAL		
24V 60A	CH-24/60	220	24	60	METAL		
48V 5A	CH-48/5	220	48	5	METAL		
48V 8A	CH-48/8	220	48	8	METAL		
48V 100A	CH-48/100	220	48	100	METAL		
80V 65A	CH-80/65	380	80	65	METAL		
80V 100A	CH-80/100	380	80	100	METAL		
80V 200A	CH-80/200	380	80	200	METAL		
CONVENTIONAL CHARGERS							
24V 10A	T-24/10	220	24	10	METAL		
24V 20A	T-24/50	220	24	20	METAL		
24V 50A	T-24/50	220	24	50	METAL		
24V 80A	T-24/80	220	24	80	METAL		
24V 100A	T-24/100	220	24	100	METAL		
24V 200A	T-24/200	220	24	200	METAL		
48V 10A	T-48/10	220	48	10	METAL		
48V 20A	T-48/20	220	48	20	METAL		
48V 50A	T-48/50	220	48	50	METAL		
48V 100A	T-48/100	220	48	100	METAL		
48V 200A	T-48/200	220	48	200	METAL		
80V 65A	T-80/65	380	80	65	METAL		
80V 100A	T-80/100	380	80	100	METAL		
80V 120A	T-80/120	380	80	120	METAL		
80V 150A	T-80/150	380	80	150	METAL		
80V 200A	T-80/200	380	80	200	METAL		

We Carry The Future









